

3.1 Brownian moments ([A] p. 64)

Use the definition of Brownian motion to compute the following moments.

$$(a) \mathbb{E}[B_t^6] = \frac{d^6}{d\theta^6} \mathbb{E}[e^{\theta B_t}] \Big|_{\theta=0} \quad \text{by definition} \quad \mathbb{E}[B_t^n] = \frac{d^n}{d\theta^n} \mathbb{E}[e^{\theta B_t}] \Big|_{\theta=0}$$

$$= \frac{d^6}{d\theta^6} (e^{\frac{1}{2}\theta^2 t}) \Big|_{\theta=0} \quad \because \mathbb{E}[e^{\theta B_t}] = e^{\mathbb{E}[\theta B_t] + \frac{1}{2}V[\theta B_t]}$$

$$= e^{0 + \frac{1}{2}\theta^2 t}$$

$$= \frac{d^5}{d\theta^5} (e^{\frac{1}{2}\theta^2 t} \theta t) \Big|_{\theta=0} = e^{\frac{1}{2}\theta^2 t}$$

$$= \frac{d^4}{d\theta^4} (e^{\frac{1}{2}\theta^2 t} [t + \theta^2 t^2]) \Big|_{\theta=0}$$

$$= \frac{d^3}{d\theta^3} (e^{\frac{1}{2}\theta^2 t} [3\theta t^2 + \theta^3 t^3]) \Big|_{\theta=0}$$

$$= \frac{d^2}{d\theta^2} (e^{\frac{1}{2}\theta^2 t} [3t^2 + 6\theta^2 t^3 + \theta^4 t^4]) \Big|_{\theta=0}$$

$$= \frac{d}{d\theta} (e^{\frac{1}{2}\theta^2 t} [15\theta t^3 + 10\theta^3 t^4 + \theta^5 t^5]) \Big|_{\theta=0}$$

$$= e^{\frac{1}{2}\theta^2 t} [15t^3 + 45\theta^2 t^4 + 15\theta^4 t^5 + \theta^6 t^6] \Big|_{\theta=0}$$

$$= 15t^3$$

Observe that

$$\mathbb{E}[B_t^1] = e^{\frac{1}{2}\theta^2 t} \theta t \Big|_{\theta=0} = 0$$

$$\mathbb{E}[B_t^3] = e^{\frac{1}{2}\theta^2 t} [3\theta t^2 + \theta^3 t^3] \Big|_{\theta=0} = 0$$

$$\mathbb{E}[B_t^5] = e^{\frac{1}{2}\theta^2 t} [15\theta t^3 + 10\theta^3 t^4 + \theta^5 t^5] \Big|_{\theta=0} = 0$$

By induction, one can show that

$$\mathbb{E}[B_t^n] = 0 \quad \text{if } n = \text{odd}$$

Since all terms have θ

while even n has a θ -independent term

$$(b) \mathbb{E}[(B_{t_2} - B_{t_1})(B_{t_3} - B_{t_2})] \quad \text{if } t_1 < t_2 < t_3$$

$$= \mathbb{E}[B_{t_2} B_{t_3}] - \mathbb{E}[B_{t_1} B_{t_3}] - \mathbb{E}[B_{t_2} B_{t_2}] + \mathbb{E}[B_{t_1} B_{t_2}]$$

$$= t_2 - t_1 - t_2 + t_1$$

$$= 0$$

$$\text{since } \mathbb{E}[B_t B_s] = t \wedge s$$

$$(c) \mathbb{E}[B_s^2 B_t^2] \quad \text{if } s < t$$

$$= \mathbb{E}[B_s^2 (B_t - B_s + B_s)^2]$$

$$= \mathbb{E}[B_s^2 (B_t - B_s)^2] + \mathbb{E}[2B_s^3 (B_t - B_s)] + \mathbb{E}[B_s^4]$$

$$= \mathbb{E}[B_s^2] \mathbb{E}[(B_t - B_s)^2] + \underbrace{2\mathbb{E}[B_s^3]}_{=0} \underbrace{\mathbb{E}[B_t - B_s]}_{=0} + \mathbb{E}[B_s^4]$$

$$= \mathbb{E}[B_s B_s] \mathbb{E}[B_t B_t - 2B_t B_s + B_s B_s] + 3s^2$$

$$= s(t - 2s + s) + 3s^2$$

$$= 2s^2 + st$$

$$\left(\begin{aligned} \mathbb{E}[B_t^4] &= \frac{d^4}{d\theta^4} (e^{\frac{1}{2}\theta^2 t}) \Big|_{\theta=0} \\ &= e^{\frac{1}{2}\theta^2 t} (3t^2 + 6\theta^2 t^3 + \theta^4 t^4) \Big|_{\theta=0} \\ &= 3t^2 \end{aligned} \right)$$

$\because B_s$ and $B_t - B_s$
are independent

and $\mathbb{E}(B_t^n) = 0$ where n is odd

$$\therefore \mathbb{E}[B_t B_s] = t \wedge s$$

$$(d) \mathbb{E}[B_s B_t^3] \quad \text{if } s < t$$

$$\mathbb{E}[B_t^2] = \frac{d^2}{d\theta^2} (e^{\frac{1}{2}\theta^2 t}) \Big|_{\theta=0}$$

$$= e^{\frac{1}{2}\theta^2 t} (t + \theta^2 t^2) \Big|_{\theta=0} = t$$

$$= \mathbb{E}[B_s (B_t - B_s + B_s)^3]$$

$$= \mathbb{E}[B_s (B_t - B_s)^3] + 3\mathbb{E}[B_s^2 (B_t - B_s)^2] + 3\mathbb{E}[B_s^3 (B_t - B_s)] + \mathbb{E}[B_s^4]$$

$$= \underbrace{\mathbb{E}[B_s]}_{=0} \underbrace{\mathbb{E}[(B_t - B_s)^3]}_{=0} + 3 \underbrace{\mathbb{E}[B_s^2]}_{=s} \underbrace{\mathbb{E}[(B_t - B_s)^2]}_{=0} + 3 \underbrace{\mathbb{E}[B_s^3]}_{=0} \underbrace{\mathbb{E}[B_t - B_s]}_{=0} + \mathbb{E}[B_s^4]$$

$$= 3s(t-s) + 3s^2 = 3st$$

$\because B_s$ and $B_t - B_s$
are independent
and $\mathbb{E}(B_t^n) = 0$ where
 n is odd

